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® x+(x+2)=236 @ x+2x=36

® x+(x+1)=236 @ (x-2)+x=236

B x%X2x = 36
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@ 2(7T+x)=x+7-18 @ 14x-18 =10x+7

® ldx=x+7-18 @ 70+ x-18=2(10x+7)

® 2(70+x) =10x+7-18



A7k 22 oW LHEE AZPAAE 23] o] 82 Fol A W,
B7HAICI A 3000 99 o &2 ol A T glek. AZHAA A
Ao] B7MAol A AHe Akt 1000 €o] B At & ), o] &5

271 Tl

@® 8000 & @ 10000 & ® 12000 ¢

@ 14000 ® 16000 ¢



ol

ax

I+= AF%°l 10,000 Yol A1, A= #AFFl 8,000

) |= mid 500 L4 AFFol 91, 317= wiE 700

5ol Y=l 5tH, 5ol Aol AFE E010E 0]
Kok

M & Q1A FoteEt,

32 of>
o L
ol
o
(o]



oo stue] Z wi= Al 8km 2 o7k, o o

A4 4km 2 Aojet}, F5l7} Ho|A] stwo] Zitte = o 1
Hol At e}, HollA stz o] A2lE Fatoiat,

km



% HjE T} 15

A 4 o3 5 1
ot

5

Tor
A
!
NI

587

BO



PERN

A
T

A7} A ot



A3} B AfolE FE 23 cks HATE Ik &2 Azl A o
oA Eugt MArt Al 80km 2 B Y-S Fal 71 1, BYolA
Z95E A7 A4 90km 2 A 92 S| 7t gtk A9a BY
Atole] A 7F 34km @ W, o] F WATF R wi7hx] A A
T-stefet.

D10 O 11

A
®
o
®
o

3 20

AT



9.

mL



10% ©] 232 400g oA & 7] 2382 WU, Wi FehF ]
“O%ﬂ—%u}%w 4% ©f 2EEE A 5% o 238 6005
ol {gich. oz wdl £FE] g7

D 100g @ 130g @ 150¢ @ 180g (O 200¢



